ADHER HIC|0|E 222 93

4= MR 710 =

108 "&7I,




2| 7}0|E

F

4
O

Of

Kl

A

%7|o|

01.

oto Z=A[7F 2 HOf

1 =AM

OH

o 3t

AT
o

20mm L2IZ E7|

4r
ofr

==

<

(8) 5174

&
81

nd

=T 0.87l/week
- Q|7] %7} 10°C 0|52 14t

P~
o

>0
g =

N
(s

olo
o3

B

o MS 2T} LaiX|

4

il

K

<d

—t

KO

<

3

ol

ol

ol
100
0
1|
Ul

14

il

X7 #HX| 2, of

ol

N

|.

EY:

ol
o<

&

-

Jolll
ol
or
ol

%o [ olo ma
0 fh (np|= o olo
= e ER ol
0| = By
%o | 4o oo
0| ~ |mo|JK|[oo|olo
o0 [ o |4l | %y |&r|&C
8o [ mm =
™
ki | U1 _
.__; A.__u [N .__._.__.o
IH (R0 = - m [ &2
(ol (& ™ <&
130 ¥
o | %ol




a| 7to| £

F

i
RO
joil
ofu

Kl

7

F

2712 H

02.

#0

F 450~740W, =X &2ZF 1091~1590)

[E

ol

T

o/l

%o| OfEfZo R a|n HEO| LiE 27t

<

i

Hd
ol
o

0
<+

—

jod
KA
I+

4L

n0
Fo

ad

ol

3
Uk
8l
ol
3l

==

3
81

ol
81
4

g
iy
300

100

10
=

3

ol
ol
70
|
o<
<{F
ol

= 15.5°C
w227t W3R 5°C e

o2kt

T
(]

|.

N

O 24A]

|.

ol
KF

-
i

oln
~ng

H
o

- 24A| 7k

=25

0]

(=
=

0 31, SIEALEE HO| WE HOZ

A

5°C L{f247t

oo

i

10
3N
ofn

MY M2E29l 16~18°C 0|82, ZXRI}I2

- 2AE B719| 2442t

2|5 OF &

J0l0
Ll
i

<4

K

e

A
0l

ol
oF

ojru
100

: 450W +1°C, 600W

37|12 &F 18°C

of et 2= #HE

=
27|25 20°C, Of

s

712k 16°C(&

+2°C, 700W +3°Q)), 1t 2

2t

—_
o
T

ol
103

H

=2 s, Yoo Yk

oF
LS

2| 2715t =0 227F 47X

2= &5 HHF
=% =

ol
=

{oF

2, 27|25 7} 12% 0|5}

-
o
.

30w

2 W7t A8



2| 7}0|E

F

4
g0

517

Of

Kl
ol

I

271

02.

oj

& 6.6~19.2g/kg

& 41.9~100%/day, & CH

A%

o L=
T X

T7F90% O|& <o 2 0Oj

A7F OpS 33, OFZh ATHE

|

=i

dot7| +| 20,

M
(<]

o

a3t 7

gz d=0 H=0 227t

4

FA

ol =0 DMZZ7t

=T

<k
ok_e
ou
il

=7} 10g/kg OISk

A
=
ooz Hrj

gl

=7t 10g/kg OISt} &

st
(=]

=7} 10g/kg O] &0| &l =

A
=

A3 85 HOrM EL

-

SfiOF

S
foF

=1

B &7 7S R &

oo

oz

I} g2

—_
o
T

& 85% LHQ|, B& = 18~20g/kg T

Athes
cf

Mo

=7t 90% Ol 0A 5AIZE O]

e
=

Al
o



2| 7}0|E

F

4
g0

517

Of

Kl
ol

I

271

02.

IAo| A2|=0]d0] 2Ry

A

.l

- 160~630ppm

to] 7kA0| O 740, 50| M S

SR

ol

i

g o4

iy
10

==

ofl

P

FA

LHO

Kl
ol

phil
Mo
4
wd
160
4
Bl

olo

EI_.

4

Al

olo
o<

G

ad

t71&0[ 10% O|ot= HOtX|

=3
—

- 2|7]|20] HOP™ A

oF AIZ17t 2R S

ts

H| @A T}
AlH]

A

¥

wd

LHo
oF

Ho

{oF
IH
=)

LHO

-

Kl
IH
[Np)
olo

=

E]

OF

I

<0

=7} 20g/kg Ol

A
=]

_ opzt M

[EY



2 EC 1.6, pH 5.8

iy
o

O] 0| £8

il d
o0

3

A

=l
10

P

For, 12H40] 7H=}

7
Klo

KI
[=p]
81

10
10d

10

K

81
<

Ju
ol

K4
10!
oF
mjn

oF

K

ml
<4

ol

a
0l

<H

-

jodl
KO
3]
ol
R

FOA AA|2 LER= ECZLO]

S p.S pnl
O 1 —

1 =2|mLt

2ot ECHt

24 7| of A
x|ofl chot

A/

oo

1)
<

HO

—

N

KF
Kb
<l

==

o

!

140ml/F=(42),

), =4 A|ZHCH 08:30~15:30

- HiX| gt=&2 Z=HA| BiX| A CiH| 80% L 2[0fA

960ml/day-plantS S55t=

Ba|st



-

712| %= 7|Et 710

CCk
=

04.

ol

-l

Kl

Ho

2ol =

= 2HW M ASHALL Helsty of 4 X| £55 0|2] 2

o 571 O] &0 E[=5F £te

el ZHME EE0l 8

-
o

= A

o ol
— IT

=
21

o

—t

jol

gd
ofu
&
1l

Kjo
10

M Al

10

4L

ol

olo

ojnu

H
o

3

-

H
=

- Mool 5E0|d

1000ppm &=



